IMPORTANT SAFETY INSTRUCTIONS

WARNING: follow these personal safety instructions very carefully. Incorrect installation
may create serious risks.

« Read the instructions carefully before starting to install. Save this manual for future reference.

+ This product was designed and built strictly for the use indicated in this documentation,

« The manufacturer declines all Hability in the event of incorrect installation or improper use of the
product,

« Do not Install the gearmotar in presence of fumes or inflammable gas.

« The mechanical parts must conforn to the provisions of standard EN 12604 and EN 12605,

« Manufacturer is not responsible for failure to observe good technique in the construction af the
closing elements ta be motorised, or for any detormation that may occur during use.

« The installation must conform to standards EN 12453 and EN 12445,

«  Before start any job on the system, cutout electrical power,

+  The mains power supply of the automated system must be fitted with an all-pole switch with
contact opening distance of 3mm. Use of a 6 A thermal breaker with all-pole circuit break Is
recommended.

o Make sure that the earth system is perfectly constructed.

+ The safety devices ( photocells, ete)) protect any danger areas against mechanical movement risks,
such as crushing, dragging, and shearing.

+ Use of at least oné indicator=light is recommended for every system, as well as a warning sign, in
addition to the safety devices.

«  Danot command more than one gearmotor with each button.

«  For maintenance, exclusively use original parts,

« Do not in any way modify the components of the automated system.

« The installer shall supply all information concerning manual operation of the system in case of
an emergency, and shall hand over to the user the the warning handbook supplied with the
product.

+ Do not allow children or adults to stay near the product while it is operating.

+  Keep radivcontrols or other pulse generators away from children, to prevent the automated system
from being activated involuntarily.

+  The user must nat attempt any Kind of repair or direct action whatever and contact qualified
personnel anly. = - -

+ Transit is permitted only when the automated system i idle.

«  Maintenance: check at lwast every 6 months the efficiency of the system.

+  Anything not expressly specified in these instructions is not permitted.

INSTALLATION INSTRUCTIONS

1) Close the rolling shutter,

2)  Elfect on the tube of the shutter 3 perforations as shown in figure 1,

3)  Remove the M10 serew (€) from the crown of the gearmotor (see figure 2).

4)  Remove the two semi-crown (D) unscrewing the two M8 screws (E) as shown in figure 2,

5)  Carefully remove the plastic band with rolls (F) avolding heavy folds that would cause the spillage
of the rolls,

6)  Separate the two elements of the gearmotor {G) unscrewing the four MB screws (H).

7)  Incase the diameter of the tube is inferior to HOmm, use the reductions B33 / 042 /048 (1)
pusitioning them on the 10mm hale drilled previously [see figure 1)

#)  Assemble on the tube of the shutter the two elements of the gearmotor (G using the fourMg
screws (H) removed before.

9] Screw the M10 screw (A) without hexagon nut, serewing it inside the hole 10mm (see figurel).

10] Tighten the M10 screw with nut (B) so as to block the gearmator on the shaft and tighten sald nut.

11) Install the plastic band with rolls (F) in its appropriate place;

12) Install the two semi-crown (D) fixing them with the twa M8 screws (E). In presence of spring
boxes diameter 220 mm use the adapter (K) (see Hgure 2)

13) Make 12 mm hole in the last element of the shutter, in correspondence of the filleted hole M10
existing on the crown motor.

14) Place the last element of the shutter on the motor and secure it through the screw M10 (€) with
washer (see figure 1)

15) Make the electrical connections as shown in Higure 3 passing the 4x1mm cable supplied,
inside the shutter shaft avoiding any contact with the rotating parts (sce figure 1) In
presence of motor with electrobrake, insert the sheath of the brake inside the other hole @12,

-

16) Connect the power supply cable to the limit switch respecting the right direction (see
figure 4)

17) Close the limit switch thraugh the plastic cover (Z) and then tighten with the twao screws checking
the correct disposition of the cables (see figure 4).

18) After havinginstalled the mechanical parts and electrical connections, p roceed to the
regulation of the limit switches as shown in figure 5,

19) Rotate the plastic washer (Q1) by hand until you hear the click of the microswitch 1 (down
regulation completed). E i = -

20) Rotate the ather plastic washer (Q2) towards the microswitch 2 (up). Give tension to the motor
through an electric command and verify if the shutter, climbing, stop in desired point.
Adjustments of the position can be effected acting always on the same plastic washer and
operand through electric command:

21) Should the shutter need ta be installed contrary to the deseription on figure 1. the steps
described abave should be carried out to the contrary as microswiteh 2 will stop the descent and
microswitch 1 will stop the opening.

Figure 1

ol
—]
=

|
= =
Ii-. |

.ij

Figure 2



Figure 4

: v
‘ e e
[ ; i
| T KT -
|| J 1 LIL
| - - o
|
R
REMEMBER TO REMOVE THE JUMPER
BEFORE APPLYING THE ELECTRO BRAKE
MANUAL REl:F.A?&:

Figure 6

=

Figure 5

»

=
& |
|
u
[
|
FLEXIBLE CABLE Figure 7

e T s - W ——

1). Insert the brake [R)on the back of the electrical motor (see Hgure 6).
2). Fixing the electrobrake (8) to the motorthrough the screws M5x50 (U).
3). Remove the'bridge (T) from the limit switch
Do not damage the bridge puliing on the wire and keep it for luture use

INSTALLATION OF THE ELECTROBRAKE

4). Connect the electric cables (V) of the brake to the terminal of the limit switch.

A

‘mﬂ";u@”! CENTRAL MOTOR WITH SAFETY DEVICE

Central motor with safety device carvied out to the stop the free fall of roller shutters and
atthe same time, In Plus version, to interrupt the motoreductor’s feeding.
1). Effectonthe tube of the shutter a passing perforation ¢ 10 perpendicular to the axis.
(see Mgure 9),
After bled the twa el ts of the gearmotor (G),check that the pawl (Z) is in
the highest position perpendicular to the rolling shutter axis (see figure 10).
). The downward run of the roller shutter shall be consistent with the downward run of
¢ thesafety brake. Place the gear motor as shown in figure 11,

2).

1)

5=
—

. For Plus Versions, cannect the micro switeh's cable (W) in series to the leeding cable
(eammaon) of the gearmotor [see figure 12).

i -~
i I‘- ¥ .
X TN - 3
(L) : ]
—) L 75
" IMPORTANT SAFETY INSTRUCTIONS
; 3 n B e r— i i i
MODEL  TORQUE = R.PM | LIMITSWITCH CUT OUT ‘ POWERABSORBED  CONSUMPTION = LIFTING TUBEROLLING PULLEY
| : : (maximum door travel ) TEMPER}\TU“ | | |
e ) it { {m (min) (w) ; (Kg) [ ke | {mm) | Amm)
TIGER-TDM 420 9.5 6 + 1290 5.61 350 h76%* h240=*
TIGER-TDM 460 9.5 6 | 4 1430 6.22 380 Rl 240

DECLARATION OF CONFORMITY

o The central gearmotors for rolling shutters series TIGER comply with the tollowing technical standards: UNTEN 292 Part 1, UNLEN 292 Part 2, UNLEn418, CEI EN 60335-1:2008, D.L.vo, 277 del
16 08 91, EN5514-1: 2008, ENS5014-2: 1998, ENG61000-3, and the European directives 2006/42/CE, 2006/95/CE, and 2004/108/CE.

DECLARATION OF INCORPORATION

o The central gearmotors for rolling shutters series TIGE, when installed and maintained according to the manufacturer’s instructions, in conjunction with roller rolling shutter, which must alse
be installed and maintained according to the instructions of their manutacturers, comply with the provisions of the regulationg of the regulations of the EU Directive 89/392 EEC and successive
amendments, | the undersigned declare that the toregoing equipment and all the accessories stated in the handbook comply with the loregoing directives,



